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S X 4 .(Er,na; Tmb(:)@ﬁﬁ%ﬁ ji:ifn%é X 4 Tiﬁﬁﬁg_ﬁ_zg;kl .Zln*? jj(:?\lfn%é X 4 ,(Er,na; J:mb(:)d)ttm jj(:')\lzcn%é X 4 J:.lﬁﬁfJ(z)o)ﬂ',lE] 'Z]n%{ jJ(:)Nzcnié
1 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 2.75 143.44 |3mZEB2 5 — ~ — — —| 100kN/m#%#8 2% | 1.00 |10.53 ~ 23.48 143.44 |3m%E#B 25 -~ — — —
zh st 1.00 |2.75 ~ 10.54 100.00 | Zhist [0.00 ~ 10.54 | 2.72 13.75 Fhst 1.00 | 5.00 ~ 10.53 100.00 | Zh kst | 5.00 ~ 23.48 | 2.72 13.75
9 100kN/mMZH#BZ % 1.00 [0.00 ~ 2.85 145.05 [3ImZx#%25(0.00 ~ 0.58 | 3.36 16.99 | 100kN/m%i#8x5 | 1.00 |11.42 ~ 25.26 145.05 [3m#F#BZ5(25.00 ~ 25.26 | 3.36 16.99
Zhnst 1.00 |2.85 ~ 10.63 100.00 | =#Lkist [0.58 ~ 10.63| 3.00 15.16 Fhs 1.00 | 5.00 ~ 11.42 100.00 | Z#n st | 5.00 ~ 25.00 | 3.00 15.16
3 100kN/mM#ZH#BZ % 1.00 [{0.00 ~ 3.00 147.73 |3m%i#EZ5[0.00 ~ 0.33 | 3.19 16.12 | 100kN/m%i#8x5 | 1.00 |10.72 ~ 25.34 147.73 |3ImZE#EZ5H|25.00 ~ 25.34 | 3.19 16.12
Zhst 1.00 |3.00 ~ 10.79 100.00 [ =gt [0.33 ~ 10.79| 3.00 15.16 Zh st 1.00 | 5.00 ~ 10.72 100.00 | #n st | 5.00 ~ 25.00 | 3.00 15.16
4 100kN/m%#8%%| 1.00[0.00 ~ 1.78 127.26 |3mE#BZB| — ~ — — —| 100kN/mi%#8Z% | 1.00 |11.26 ~ 20.08 127.26 |3mZE#BZ D — ~ — — —
Zhn st 1.00 |1.78 ~ 9.56 100.00 [ Z#h st [0.00 ~ 9.56 | 2.50 12.64 Fh st 1.00 | 5.00 ~ 11.26 100.00 | #n kst | 5.00 ~ 20.08 | 2.50 12.64
5 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 2.20 134.17 |3mZEBZ 5 — ~ — — — | 100kN/m#%#82% | 1.00 |10.55 ~ 19.08 134.17 |3m%E#BZ5 -~ — — —
zhnst 1.00 12.20 ~ 9.98 100.00 | Zh st [0.00 ~ 9.98 | 2.41 12.17 Fhs 1.00 | 5.00 ~ 10.55 100.00 | Zh st | 5.00 ~ 19.08 | 2.41 12.17
6 100kN/m%#8%% | 1.00[0.00 ~ 2.80 144.31 [3m%ZE#BZ D - ~ — — —| 100kN/mi%#8%% | 1.00 |10.66 ~ 23.41 144.31 |3m%ZEBZD — ~ — — —
zhLst 1.00 |2.80 ~ 10.59 100.00 | Zh st [0.00 ~ 1059 | 2.81 14.20 Zh st 1.00 | 5.00 ~ 10.66 100.00 | Zh st | 5.00 ~ 23.41 | 2.81 14.20
. 100kN/m%#8%%| 1.00[0.00 ~ 2.67 141.98 |3mZ#BZB| — ~ — — —| 100kN/mi%#8%% | 1.00 |11.28 ~ 23.31 141.98 [3mZE#Z D — ~ — — —
ZhLst 1.00 |2.67 ~ 10.45 100.00 | =#List [0.00 ~ 10.45]| 2.96 14.97 zhs 1.00 | 5.00 ~ 11.28 100.00 | #n st | 5.00 ~ 23.31| 2.96 14.97
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
ZhnLst ~ st ~ Fhs ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhnLst ~ st ~ Zhst ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhnLst ~ st ~ Fhst ~ st ~
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ st ~ Zh st ~ st ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ st ~ zh s ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
ZhLst ~ ZNLS ~ zhs ~ Zzh st ~
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